N = 241 N = 242 N = 243

241 circles in acircle 242 circles in acircle 243 circles inacircle

radius = 0.059118899313  density = 0.B842305665696 Deser radius = 0.058950800565  density = 0.B41254456007 Heser radius =  0.058822671448  density = 0.840805922327 Desmn
ratio = 16.915064583709  contacts = 546 ratio = 16.960708659388  contacts = 459 ratio = 17.000247955238  contacts = 523

N = 244 N = 245 N = 246

244 circles in acircle 245 circles in acircle 246 circles in acircle
NTa

radius = 0058703338202  density = 0.840843987511 Deser radius = 0.058566219740  density = 0.840350513186 DEser radius = 0.058452450971  density = 0.8
ratio = 17.034806377842  contacts = 532 ratio = 17.074689205465 contacts = 516 ratio = 17.107922480296 contacts =

N = 247 N = 248 N = 249

249 circles inacircle

radius = 0.058370066289  density = 0.841544965733 Dz radius = 0.058199873510  density = 0.840031868597 Dz
ratio = 17.132068945188  contacts = 551 ratio = 17.182167927308  contacts = 538

N = 250

250 circles in acircle

N = 252

radius =  0.057930866466  density = 0, 3
ratio = 17.261954826567 contacts = 545 ratio = 17.295389897932  con

38996322375 1 £,9x radius = 0.057818875776 den 839098621386 [ Efmr radius = 0.057719405065  density = 0839545489720 [ Esmr
s = 543

- 541 ratio = 17.325195900163  contact



